T100/LTM100-C

v/

[RoHS

C € Encoora7

il My
i
N

1/8G

1/4G

M16X1.5

MACHINE TORCH

-
=T
—

WITH HIGH FREQUENCY

SE

24

p 1 S

Central adaptor

TR HE Sk

L. "

Technical Data #HAS#H

|—29

Current #EH 100 Amp
Duty Cycle g#i% 60%

Gas S{& AR =5
Gas Pressure SJE 4.5-5.0 Bar
Gas Flow St 180LPM
Ignition 5|31 752 HF =57

Post Flow S{RFERT 100sec. recommended #1005
Standard Length R4 6M

il

v,

C € Encoora

HAND TORCH

[ Code [ Ref | Descripton |

IVT6850
IVT6856
IVT6858
IVT6859
IVT6857

Plasma cutting torch LT100/6m 1/8G;% & ¥ ] £146/LT100/6m 1/8G

Plasma cutting torch LT100/6m 1/4G;% & F #]#/4£/LT100/6m 1/4G

Plasma cutting torch LT100/6m M14x1;5 & F ¥ #/#6/L.T100/6m/M14x1

Plasma cutting torch LT100/6m M16x1.5;% & F /] #148/LT100/6m/M16x1.5
01251LTR Plasma cutting torch LT100/6m central adaptor;% & F ] /4#£/LT100/6m/* R i sk

MACHINE TORCH

IVT6761
IVT6762
IVT6763
IVT6765
IVT6766

24.1
24.2
24.3
24.4
245
25

26

27
27.1
27.2
27.3
28

I T

Plasma cutting auto torch LTM100/6m 1/8G;% & ¥ B & ] £148/LTM100/6m 1/8G

Plasma cutting auto torch LTM100/6m M14x1;% & F & 5 4] /#6/LTM100/6m/M14x1
W0400034 Plasma cutting auto torch LTM100/6m M16x1.5;% & B8 &) F ] #|#/LTM100/6m/M16x1.5
01452 Plasma cutting auto torch LTM100/6m central adaptor; % & F & &) £]#8/LTM100/6m/h R i 3k

Plasma cutting auto torch LTM100/6m 1/4G;% & F & 5] #/46/LTM100/6m 1/4G

R I I

1SM0069 W0300177 Four pointed spacer/LT100-141;P4 /32 %2 LT100-141
I1SM0067 1408/W0300131 Double pointed spacer/LT100-141;7 S % %2 LT100-141
ISM0066 W0300130 Spacer spring LT100-151;F # ¥ LT100-151
1IVS0082 1386/ W0300130 Outside nozzle LT100;5MEEH LT100
Tip; i
1IVU0071-11 1371/W0300125 Tip ® 1.1mm LT100-150;iH ® 1.1mm/ LT100-150
1VU0071-13 1372/W0300174 Tip ® 1.3mm LT100-150;i# ® 1.3mm/ LT100-150
1VU0071-16 1373/W0300175 Tip ® 1.6mm LT100-150;R5H ® 1.6mm/LT100-150
1SM0099 W0300184 Locking nut;$ &% 48 &
1SM0083 'W0300180 Spacer for contact cutting/LT100-150;/8 & 3 32/4# ft &l LT100-150
1vS0083 W0300138 Contact nozzle retaining cap/LT100;# fi % ShiEHE LT100
Tip;HiHE
1VU0073-13 W0300135 Flat tip ® 1.35mm/LT100-150; 4 B #®d1.35mm/LT100-150
1VU0073-16 W0300175 Flat tip ® 1.6mm/LT100-150;/ F M HP®1.6mm/LT100-150
IVF0004 1377/ W0300124 Diffuser LT100-150;4) % # LT100-150
1VB0089 1376/ W0300123 Electrode HF LT100-150;% & F #4} HF/LT100-150
1ZN0769 W0300122 Air tube/LT100;F# & LT100
ISM0003 W0300182 Shield cap hand tip (Max 50A)/LT100-151;¥] & #8(FK K50A) LT100-151
1SM0004 W0300183 Spacer for contact cutting hand tip /LT100-151;4 # i ) & ## 48/ LT100-151
Tip; R
1VU0075-13 W0300178 Extended tip ® 1.35mm/LT100-150;/1 & i5H§ ® 1.35mm/ LT100-150
1VU0075-16 W0300179 Extended tip ® 1.6mm/LT100-150;11 ¥ I #§ ® 1.6mm/ LT100-150

1IVU0075-18 Extended tip ® 1.8mm/LT100-150; /1 B M ® 1.8mm/ LT100-150

1VU0080-11 1369 /W0300134 Contact extended tip 50A/LT100-150;#% il il 4 B5H§ 50A/LT100-150
1VB0095 1517 /W0300133 Extended electrode HF Plasma LT100-150;10 4 % & F 8 #k HF/LT100-150
1ZN0762 Extended air tube/LT100; /& i & LT100
IVF9006 Frontinsulator/LT100-101;# % &y it 48 4k LT100-101
1VZ0025 Plasma torch head LT100;% & T4 LT100
IFT0689 1398/W0300121 “O’ring LT100;0Z![ LT100
1GV0035 Plasma handle manual/A Series/Red; % 8 F F T FHIARFIL &
IHJ0722 Protection part/Plasma/Yellow;FF X RiF 1 HIS B FHEE
IHQ0070 185.0031 Trigger; 7 %
IHJ0894 Joint/big/new type; Bk 5 & #/A/H X
Cable assembly;B # 4
1IVN00210066-00 Cable assembly/LT100-101/10MMQ/6M ATT.1/8G;H2 4§48/ T100-101/10MMQ/6M ATT.1/8G
1VN00210060-00 Cable assembly/LT100-101/10MMQ/6M central adaptor; B 4648/L. T100-101/10MMQ/6M s ifisk
IVN10210066-00 Cable assembly/LTM100-101/10MMQ/6M ATT.1/8G;FL4£4R/L TM100-101/10MMQ/6M ATT.1/8G
1VN10210060-00 Cable assembly/LTM100-101/10MMQ/6M central adaptor; B3 4648/L TM100-101/10MMQ/6M R sRifisk
IVNO631 Cable assembly/LT100-101/6M/central adaptor;H# 4i48/LT100-101/6m/ R ik
1ICG6006 Spanner for Plasma; % 5 Fi6 it F
1VZ0082 W0300143 Plasma torch head LTM100;% & F4& 5k LTM100
1GV0013 W0300144 Fiber glass position tube/LTM; & 5148 F# LTM
Cable assembly LTM;E 4§48 LTM
1ZT5687 Connecting adaptor 1/8G-1/4G ¥ #$%£1/8G-1/4G
1275688 Connecting adaptor 1/8G-M14x1;%% #3#3£1/8G-M14x1
1ZT5689 Connecting adaptor 1/8G-M16x1.5;3% ##3%£1/8G-M16x1.5
1ZX0078 Central adaptor torch side Plasma 5 pins; % & F & J i Sk/5¢t
1SM0077 169

Circle cutting attachment/LT100-151; [ B 4] £l i ## LT100-151



